BLUL=7%

AESR
SF6E11A14B(K)
JIE {5z K4 OUT | I N [¥BX| H D | NET | {§&
1 Eik ET 39 45 84 176 | 66.4
2 kg HE 40 44 84 168 | 67.2
3 & XA 38 39 77 8.8 68.2
4 Sl &5 39 50 89 200 | 69.0
5 =EF BUA 40 36 76 6.0 70.0 NP
6 MA B 42 47 89 184 | 70.6
7 Kbt =% 44 49 93 224 | 70.6 NP
8 # —AhI 41 47 88 168 | 71.2
9 A E— 33 39 72 0.8 712 | BGE
10 HE ZEE 38 43 81 9.6 71.4
11 Hp {E— 45 48 93 216 | 714
12 IR HIE 31 44 75 3.2 718
13 L5 = 41 38 79 7.2 71.8
14 kg B8 36 39 75 3.2 71.8 NP
15 Z2F T 37 39 76 40 72.0
16 MR RS 43 47 90 176 | 724
17 A Eif 39 43 82 9.6 72.4
18 Y& FE5 40 52 92 192 | 728 NP
19 =2H BA 36 37 73 0.0 73.0
20 HE R 47 46 93 200 | 73.0
21 Ik & 40 46 86 128 | 73.2
22 5 BE 39 43 82 8.8 73.2
23 B FX 36 44 80 6.4 73.6 NP
24 B X4 38 46 84 104 | 73.6
25 AR 44 41 85 112 | 738
26 FE A 45 45 90 16.0 | 74.0
27 fah EmEB 40 47 87 128 | 74.2
28 #K IEBA 40 52 92 176 | 744 NP
29 N 39 45 84 9.6 74.4
30 Il &R0 38 46 84 9.6 74.4
31 S EBE 35 42 77 2.4 74.6
32 A8 B 38 50 88 128 | 75.2 NP
33 HH £ 43 42 85 9.6 75.4
34 &I FOBR 42 51 93 176 | 754
35 Bk ES 40 45 85 9.6 75.4
36 e Eif 43 51 94 184 | 75.6
37 Nk 15’8 44 50 94 184 | 756
38 BAR E=—H 44 47 91 152 | 75.8
39 AE BHX 43 44 87 112 | 758




40 FMH BR 39 48 87 112 | 758
41 ] OFEAR 44 48 92 16.0 | 76.0
42 BEH =4 43 54 97 208 | 76.2
43 =I5 RF 44 45 89 128 | 76.2 NP
44 X BZ 47 42 89 128 | 76.2
45 =R & 45 49 94 176 | 76.4
46 i Rk 35 44 79 24 76.6
47 A BX 43 49 92 152 | 76.8
48 Tk IEM 44 48 92 152 | 76.8
49 RRE F 39 45 84 7.2 76.8
50 h ¥ BT 42 46 88 112 | 76.8
51 FILE E— A1 51 92 152 | 76.8
52 KT {&f8 44 50 94 168 | 77.2
53 FiEE MBE 42 52 94 168 | 77.2
54 —<F K —[& 46 49 95 176 | 774
55 £ —BR 38 41 79 16 71.4
56 IMNIL R 43 52 95 176 | 774
57 FER B 41 46 87 9.6 71.4
58 HO #EA 43 44 87 9.6 774
59 iR X 44 45 89 112 | 778
60 FEE FIRE 41 56 97 19.2 | 778
61 EH —xt 39 47 86 8.0 78.0
62 SH BE 42 40 82 40 78.0
63 i EZ 43 47 90 120 | 78.0
64 Bk J\FIR 47 61 108 | 300 | 780 NP
65 KiE BE 50 49 99 208 | 782
66 f#H B§ 39 48 87 8.8 78.2
67 M A 45 46 91 128 | 782
68 Hg& BR— 40 47 87 8.8 78.2
69 ik FAE 45 48 93 144 | 78.6
70 = H KA 42 48 90 112 | 788
71 i == 43 48 91 120 | 79.0
72 RA BE 46 50 96 16.8 | 79.2
73 ING B 40 50 90 108 | 79.2
74 Tik 558 43 49 92 128 | 79.2
75 5 B— 45 48 93 136 | 79.4
76 BRH B 47 46 93 136 | 79.4
77 BB RALE 47 59 106 | 26.4 | 79.6
78 BH W= 45 45 90 104 | 79.6
79 W =& 45 51 96 16.0 | 80.0
80 F¥ B 41 45 86 5.6 80.4
81 8RR FF—ER 46 48 94 128 | 81.2
82 EH Esh 44 51 95 136 | 814




83 KHF 17E 40 51 91 9.6 81.4 NP
84 AH &b 48 51 99 176 | 814
85 B EE 41 50 91 9.6 81.4
86 28 HE 44 51 95 136 | 814
87 IMR BSE 42 50 92 104 | 816
88 HO A 41 47 88 6.4 81.6
89 EE [E= 48 54 102 | 200 | 820
90 = K- 38 53 91 8.8 82.2
91 —i% PR 40 51 91 8.8 82.2
92 BEN RF 48 51 99 16.8 | 82.2
93 ME B 42 51 93 104 | 826
94 INEF BSTE 50 50 100 | 16.8 | 83.2
95 Lk BER 48 53 101 | 176 | 834
96 AEga e 43 58 101 176 | 834
97 RSP IEH 48 54 102 | 176 | 844
98 RE Fig 50 49 99 144 | 846
99 eEF = 47 53 100 | 152 | 8438
100 Kix e 49 51 100 | 152 | 848
101 Y& B 50 59 109 | 240 | 850
102 Bk 48 55 103 | 176 | 85.4
103 WwE B— 45 47 92 6.4 85.6
104 T R— 49 52 101 | 152 | 858
105 BAR iz 47 59 106 | 176 | 884
106 =% RF 63 62 125 | 248 | 100.2




